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6. fEAABC ¥, N A,B,C Xt ha,b, A. 2342 B. /341
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a b
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. . sin B
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(1)3RIE:B=2A;
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BT .
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ENABC 1 N A,B,C B85 9K a,b,
¢, B 5 bsin A=\3acos B, /ABC ¥4 45
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A. 4 B. 8
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3
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RILER

8. TEAABC W, WM A,B,C Frdiilsrnha,
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A. sin C:g B. a:%
C. a=c D. S, =22

1E/AABC 2 AB=2,C=§,E_ sin Asin B=
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D. s,/ACB,/BCD,/ADC

(% 3 B W2 B AL T R A L i R
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WA a,b,c. M (a+b)(sin A+ sin B) =
csin C+asin B,c=6, W FHZ5 I 1EMHAY 2 ( )

=T
A, C= 3

B. AABC SMEEIE LR R 243

C. AABC WM RMEH 373

D. # CD JAABC W £, W CD ) 5 /ME
/3

TEANABC B, N1 A,B,C Frxti il

hornl i a,
b,c. B c=J7,C=

6,0 a+b= .

CRAABC -IN A, B,C B i3 a
b,c, #b=4,a+c=2J5,H bsin A+3acos B=
0, MAABC )1 >

mE R B F R A TE ABCD W, E A AB |
—Mi,#%# CE,DE, 5l AE=4BE,AE =4,

Sole—ath)(cta—b)=

2
CE :ﬁ,éBAngABC:4CED:§.

(1)sRABCE i

(2)5R CD K.
C D

N\

B E A

B4t

17. EEBM=/ME ABC v, N A,B,C BXlsy

18.

ANKa,b,c, Hi B (a+b+c)(at+b—c)=

Sab U BB ()
3 23
C. (/3,+o0) D. (@»@)

TR — &% R = E R R R 89 T
ABCDE WA f743%%iE,ED,DC,CB,BA ,AE

R (AHETEE) , BE MFRE NI — 5k %

2
Wi, /BCD= /CDE = / BAE = {,DE =

4 km,BC=CD =43 km.
(1)khMk55idE BE B K&

(2) Bt e it A ﬁiﬁ%‘z B BAE k7
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O ZFNFEZRE (— ) [BE9 1~9.2]

CH A .45 2% 2~ {H:100 )

— RTUERE AU 6 MBS 8030 4 S B TURREL AR 2L B A 312
1. FEAABC W, 25 AB=2,AC=3,A=60", 0 | 7. #EAABC 1, fi A, B,C W5 MR a.b,
BC = ( ) BB R («® — 0+ ¢ )tan B=ac W B M
A. B. :
9 19 LA )
C. V7 D. V19 A. 30° B. 60°
2. # A A,B FA/NGHE 10 #EE N A B3 C o a0 S
S B SR 60 ML N B B C BRIA Bk ' '
8. Ak ik IF A i ()

TSTHIRLA, I B, C R Tl B B « )

10«/7 A. FEAABC 1, #sinA + sin B + cos’C <1,

A. 1043 § —— -
V3 i & | MANABC Rk =MIE
C. 5/2 g8 D. 56 ifEH B. #£AABC i, AB=\3,AC=1,B=30
1 ?
~ e — — = — :
3. fEAABC ¥ % a=7,0=8,cos B = U A NUAABCE@ﬁﬁ,E{‘»@
A RN C ) . ,
: C. TEB A=/ ABC W, A%E58 sin A>cos B
T e :
A g B ek v
c. D. 7 D EAABC L3 B=— 0 =213, HAABC
4. fEAABC "1, % 2cos Bsin A =sin C, | AABC TR b BB L (3.203)
HAT:
N TR A ( ) S EET . ABREI N EANEDS 4,3 15 4.
A. HA=ME
B A= 9. EANABC H,a=4,b=5,c =6, cos A =
C. ZEH M=/
D HESEM =Y 10. 7EAABC #1,BC=1 H. cos A:—%,B:
5 CHAABCHNAA,B,C Brxteitt syl fa, |
b,c, %% ab=43, H sin® A+ sin”B —sin Asin B= ,)IJ BC 1 LS R
sin*C, M AABC (T #UA ()
1. e, S MN, % M
A1 b 4 niEl, A i
1 % A IS —FE LB L T C
C o3 D. /3 B A Y — L1 T .
6. TEAABC He M AB.C B a e, PR AAA WA
e M §y{j fg ~ MAN = 45°, N
=—,AB - BC=—2, Hi#i /& sin A +sin C= | B
3 1 & C B fa L CAB = 30° 4
2sin B, W% = AL 4MEE 42 R= ( ) LK MAC =75 M\ C 48 MCA = 45°
43 2.3 o
A. 5 B. —— SR BC=4803 m, HW LK S A 1£[FH
c 3 b 2 — KT L L MN = m.
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12.

13.

(13 HOFENAABC v N AL B, C X455 3
a,b,c,tan C=(a—1)tan B.

(1)3RiiF :bcos C=1;

(2)# a=2, ANABC WA 1,5k ¢ BYfH.

(15 ) B T B K 2 v 2 —, ki iz
FRBERE P IE AR 5K mE PR, B,
E,F il BW 3t 26 = 50 10T A 4045
X = A B AR AR 2390 DAy 307,607,457, 1 Ry HL4&
BF Fi@ s 1l B%iE , e W43 BC,DE ,EF =k
AR EE 39043 km, 1 km, 2 km.
(1)RE&BLAE IR

(2)3RBEiE CD K.

14.

(15 HTEANABC W, N A,B,C 13535
Ha,b,c,H sin C+y3cos C=a,b=43.
()#FH a+c=2,8 D i AC &, BD ¥4
S/ ABC 3R 4Bt BD ¥

(2)HENABC A =M, E R AC By 51,
SKZ B BE 1)K i BUE TE [ .

gnE m=mr 013
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9.3 HEFRREWM: SIAUEMZENES

Ii) K5 4) 12

T 1E 5% 8 PR A3 0% 2 FRAO 2 ), FRATTRGE 15 Bl ok R 55 00 & A B R 8%, BT LAAS A BT 3k P A 22 18] i) B
B (2) BER [R] =4 A8 R B BT 22 R 2 A R Ll b B AT RN AL ) Y A B AT v R &, RS 5 P 4
K.

5 30 i A VR LU T 4% IR SIS .
REAAERRAZEMEREHICRE
15 B I AE i 1) -

(DR ST

Sred L

— 41| I IE 5% R PR DR LSRR g R R R

T | R IE 5% B R S BORT e JEE () R

(2) T 1 A R 3K P R AR 25 4 ik

Ca) Iy b AT (b)) 3 I REFT

(CONFHIES

WD) T B M

(5) 1% B i #2 H i 58 A B0

(6) H3 P8 B 4 11 2%

(% 8 B4

15 2N 25 W)
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3. T ARBIAW AP L2 ) B RE B, wl A B J7 iR %, 4 T A
TERCF IR b B4y R R 7 — WG . “2019 4F 8 H 16 H BEE & Ja — 7 iR BE L eI, & 423
KRB ARSE S — e e BB S 2 S B (LU TR [ St ) IE S T, AR i 36 AR SE i i BE AL SR e A, o
ARSEAS HU AT B 2 Al B 22 SR I HT T AR SE R PR £k, b Z Wi B AR SE 50 — mi B 6 1 R Rt 134 K. " [A] 27
MBI B, I3 7 ) [ SO A X A g 7 FATRE T I8 H B2 AR B 50E— T2 — G,
AN 4 R/INL 7y =2 T Al AT 145 B B & 07 26
S —/INEH SR AR PRI AR T ARATIHE I S O R BE R 2 O T B A R A5 [ B O TR 4 A
FA o, IEXFE SO ETRE T s KRS, BNIE B s TE Bt DA SO TR 0 M A B, AR5 T H R B
OE S E (HOR B a Brs).
S T /INEHL SR B R B TR S ST < AR T B v I T BTt 2 S B — i 11 28 (5 B O b T IR — K P
T, 8247 3 K BETR & b AT AN RIEA 3K OF5 - FRSEE T R G B, NGB E B EER 211
SO BT B, I N S8BT RN a0 oK @QIEX I S0 KB TR % o Ok, EE O I $RAE,
RN SETEEECh o, KRS TR E S0 B S CHORE B b FrR).
SEBRERAE R S — NN s =90 2K, a =427, 3=48" , A HAE SR O E ERN H 3 5 T /ANHNG o, =
LA5 2K,a=12 K, a, = 1.4 K, A FEAHE SO E D Ho . Rl 8 E 1 IR 27 #5016 K.

D 4
/,’//, r N )
sa AP neE-- nE
h@s-ﬂré ¢ K a a—L5% ¢
& a K b

L RN,

tan 42°° 77

(1) IR TR A P N SE R ( 2500« tan 42°~0. 900 4, tan 48°=

() URIN WA N T5 S B 7 B th AR B e
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O ARBRERS (—)

e A 1

1. FEAABC W, AB=6y2,C="", Il AABC $hi%

[52l £y JE < « )
A. T2x B. 24x
C. 36x D. 12x

2. TEANABC W1 a,b,c Al A,B,C %
P, % 3sinC = sin®A + sin®B + 2sin Asin B,

3
cos CZEvE‘ SAAB(‘:ZLal)_\"J = ( )

4./6 2./6
46 B. 4 C.—VC

3 3 D. 5

A.

3. iIdAABC BN A,B,C 89X 1555k a,b,c,D
it BC F—5, H ADsin/ADB=csin C,a—b=

7
1 ,COSLBA(::?S JUAABC B91H AR «C )
A. 8 B. 9 C. 12 D. 14
B 2

6. IEAABC W ,a,b,c 53l hA M A,B,C #)X}
, , 1
iﬂ,%bz+62<?az,mUAABC R ()

A BifI =P
B. 1=
C. Hfi=fA
D. DL E#A TRE

7. FEEAABC W N1 A,B,C WX Al a, b,

.
L - Bl
, B cos C’ W
sm(

NABC # C )
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FAILE. RREEB=AT

a b+c
sin B sin C+sin A ™

4. fEAABC W,

i C )
A T ALESM
B. WhBEARFES KM
C. FEFKM
D. BEAFE S A0 B 5 A1
5. NABCHWIWNAA,B,C Xl ha,b,c,

ELH 2cos C(acos B+bcos A)=c | C= ;

3V3

#c=J7 ,ANABC R FA T,)FIIJAABC GEPLIRIS

H

FIRLE. REZREEFAE=AFR

A BifI=MAE
B. A=A
C. HA=ME
D. %WEHf=ME
8. {EAABC W, N A,B,C Frxtuyilsiha,
b,c, % acos B=c+bcos A, MAABC & ( )
A Bifa =M
B. Bifs=fE
C. HA=MAKE

D. =M



A 3
o x AB
9. BRMAABC ABM=ME,B= My~ H I
WA C )
A. (§,+oo) B. (V3,2)
. (V3 248 243
c. (5.757) D. (55-.2)

10. ZEAABC P, N1 A,B,C I x5y 5l a,

3
boe #F A= HAABC AN B 4,0

ANABC T ) 5 K AE A& «C )
A, J2—1 B. V241
C. 2J2—2 D. 24242

UE 4

14, o4 7 R R — R RS CD B s,
BHNEERD S A LWBET D #0fh
307, /ANEWTI I P AE 1 40 KBk M 4L, 45

/CMA=120°, /CAM =15, W #% CD W55

] C )
D
——-C‘_A:-::~ —————
M A
A. 20 2k B. 252
C. 20432k D. 202k

15. (% & A CETE A AbIBATIE B 5248t
WA 75° 70 b, 5 A AR S A 12./6 HEE I

FHITES C AESTRE MY AL P 30° U718 b, 5 A &b

11.

12.

13.

16.

=RETRESEETMA

ILAABC BN A A, B,C Frx B4 50 a,
b,c, B asin A+csin C=acos C+ccos A, %
AABC WTH S=1b" (¢=>0), M ¢+ Byd RAE A
TENAABC W N1 A,B,C Brxt 55 2 a ,

184/3
b,c,# b:G,ac:.—[,Ul'J B #) BUAE 75 B A

sin B

EANABC W, N/ A,B,C Frx 8yl 43 3k a,
b, Fa*=b(b+c),HMC Km0 2B —

bcos B

A= LR B

"acos B—bcos

IE. REXEEAELPREEFRINA

M E e 83 g L. 40 A A &b i) IEAL J7 1] fii
12 D b, AT B B 75 5T4E ) # fh AR 60°
Ji ) b, DR 5 3 i T B Y C )
A, AKE D bz ia g 24 i

B. JTH C 5 D gb2 )iy #E 5 % 8/3 ifg B

C. JT¥ C7E D LMW VifRrg 60°J5 1] L

D. D AESTH B #db v 3077 1) |

WE L EN T —AZE A, 7588 A, C WAL
U EIEE S B %1 BC=60.5 mm,AB=15. 8 mm,
SABC=80°, M AC=_  mm. (£ %K

2] 0.01 mm)
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17. EAABC MM Fi AL B, C BRI a, b, | 18 mEd AEmI AT ABCD W AB=1,BC =3

¢, EL40 sin A +y/3cos A=2. AC 1 DC,CD=J3AC. %/ ABC=4.

(1R Aj (1)# 0=30",3k AD Wy.
(2)# a=2,/2bsin C=csin 2B,3kR AABC 1y (2)Y4 0 K}, 4%E BD lKERK? IFRZ%
. B BD R,
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